ELEC 120
Foundations of Electrical Engineering
Spring 2007
Homework Assignment #6 – due in class Friday, Mar. 9, 2007
Problems 2.20, 2.24, 2.37ab, and 2.40ab in the textbook, plus the following additional problems:
1. Assume clockwise mesh currents for the circuit shown in Fig. P2.5.  Make the top mesh i1, the bottom left mesh i2, and the bottom right mesh i3.  Use mesh analysis to find the mesh currents.
2. The following figure is a redrawn version of Fig. 2.9 on p. 64, which you analyzed using mesh analysis in Prob. 2.20.  Apply mesh analysis again to find the mesh currents indicated below.  Verify that the values obtained for the actual current flowing downward through the 4- resistor are the same whether calculated from the mesh currents found in Prob. 2.20 or from the mesh currents found in this problem.


[image: image1]
Notes and Hints:

You may make reasonable assumptions and approximations in order to compensate for missing information, if any.  Include the details of each problem solution, including important intermediate steps.  You will not receive credit if you do not show your work.

Prob. 2.37:  The answers are a) voc = 16 V, Rth = 6 ; b) and power absorbed by RL = 8 W.
Prob. 1:  The answers are i1 = −1 A, i2 = 3 A, and i3 = 1 A.
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